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General Instructions:
(1) All questions are compulsory.

(fi) This question paper contains 20 questions, which are divided into
four Sections: A, B, C and D.

(i) Section - A contains question number 1 having fifteen (i-xv)
objective type questions. Question from (i) to (vi) multiple choice type
questions. Each question carries four options, from which choose the
correct option. The answer of each question from (vi) to (xiv) may be

given in one or two words or sentences. Each question carries 1 mark.

(Iv) Section - B contains question numbers 2 to 9 of very short answer

type questions and carry 2 marks each.

(v) Section - C contains question numbers 10 to 17 of short answer

type questions and carry 3 marks each.

(vi) Section - D contains question numbers 18 to 20 of long answer

type questions and carry 5 marks each.

(vif) Internal choice is available in two questions of Section-D (Long
Answer Type Questions). You have to attempt only one of the given

choice in such questions.



s- 3
SECTION - A
(aFgfAss o)

(Objective Type Questions)

frfaf@a & @ i @ dier A 37d: TR giFa (ne g @)

e 87

a) SR -7

b) AL 375

C) TelUeAair -20

d) & |8

Which of the following is not a Cu releasing 1UD?
a) Cu 7

b) Multiload 375

c) LNG-20

d) All of these

haATSer HIEHRAT ThderT Teh 3aTET &

a) sgyamfaar

b) Sgsfiel FRmaTfcy

c) G (T relisaN)

d) 3ifeler AN (3cdIA) 99T fahR

Phenylketonuria is an example of:

a) Pleiotropy
b) Polygenic inheritance

c) Aneuploidy



ii)

d) Autosomal dominant disorder
ST 3ETforeTdr (fharfoifean) sa o 3menid g

a) 3MTedRI% ATATIIT
b)é’lnatrag?&qm
c) U 3TshA g3r (EST)

d) Sta gaerr faareT (Srigewhrifead)
DNA fingerprinting is based on:

a) Genetic mapping
b) DNA polymorphism
c) EST

d) Bioinformatics

AIfaf@d # ¥ fpger alfass 3R 1400 AT 7

a) giF HfT=a
b) FHrecanfaefar

X

.
c) TIsIcrel HAlAd

d) §lA RFeqT

Which of the following has a brain size of 1400 cc?

a) Homo sapiens
b) Australopithecines
c) Neanderthal man

d) Homo erectus

fAeIfaf@d # & a1 Sl & 99 & wred giar g7

a) TH®
b) %heh
c) IdH



d) #fthet
Which of the following is obtained from coca plant?

a) Smack
b) Crack
c) Charas
d) Morphine

vi) TAeT@d & @ 47 Felifdier Hags sl Teh Ay [AANdT «Tal g7
1

a) FidshfadeT & 3cafd (ori T TRE)
b) aXoT IqeT Regsh

C) FlfeIdT T

d) griferst i

Which of the following is not an essential feature of a cloning

vector?

a) ori site
b) Selectable marker
c) Cloning site

d) Recombinant protein

vii)  RTel RN (STETATAT ded) aRT 3caIied gTAlT HI ATH
ERIER 1

Name the hormone produced by interstitial cells.

vii)  gemrfa &1 wmAEA RBgyuid fRaa fgar? 1
Who gave chromosomal theory of inheritance?

ix) & U Yepe ford| 1
Write two stop codons.

X) TR H Wd AR ITAET 24T §7 1



What is source and use of streptokinase?

Xi)  HATSPRISST FIAT g7 1
What is mycorrhiza?
xii)  IRYFT AT g H foheal dleliucerss gl 82 1

How many polypeptides are in mature human insulin?

Xiii) EGGR HeJeholel T Teh 30T &IfST| 1

Give an example of behavioural adaptation.
Xiv)  USHARST ITHAUT H HA Iedveh Follicrdl F2T 87 1

What are pioneer species in xerarch succession?
xv) 3T TAARdT (USTReH) a1 &2 1

What is endemism?

Ts-
SECTION - B
(A TERICAS TeeA)
(Very Short Answer Type Questions)

EI-31019T & IR H &9 H fod| 2
Write briefly about self-incompatibility.
S 3E U6 & (GIFT) W v afgiea feoaofr o) 2
Write a short note on GIFT.

foraY cafga = Jia gaRa Wt & Tush & 3 T T99 & v S I 39T
94T ATfgu? 2

What are the measures one has to take to prevent from contacting

STDs?



10.

11.

12.

afgral & fofer fAeior @ giar 87 2

How sex determination occurs in birds?

grSl-aetaet WIdT & FHITAT el arel HReh A GaAlagy | 2
List the factors affecting Hardy-Weinberg equilibrium.

TUeh 3GIEX0T & AT HeHITSAT HI TISC AT 2

Explain commensalism with an example.

HER H@ell 3N 3R el (Fsd) & & I A 2
Differentiate between food chain and food web.

URGHd! S (S Tfaded) @ ured Sifds 3cdrel ) veh fecaolt faf@v|

2
Write a note on biological products obtained from transgenic animals.
s ¥
SECTION - C
(FTERRICA® 9eaT)
(Short Answer Type Questions)
aRgerd 40T A & ATHITRT =T F=rd| 3

Draw a well labelled diagram of mature embryo sac.
JHATIAAT & [AIH &I <grear Hifav| 3

Explain law of dominance.

QTerel (FAT2) T 3ETEI0T &I U YTehfdeh aXOT Hl TS AT 3

8



13.

14.

15.

16.

17.

18.

Explain natural selection giving example of moths.

W & 3UIR W T feoqofy faf@u| 3
Write a note on treatment of cancer.

AT o JITSToAhl, &TON 3R HHHACT & Tk HT faaor & 3

Give details of causative agents, symptoms and mode of infection of

pneumonia.

aifed AT 3UTR H§IF # gfadgs 3ugr ) fevqol faf@w 3
Write note on secondary treatment in sewage treatment plant.
$IEr U W T feoqult faf@v 3
Write a note on Bt-cotton.
3o e g & & waE HROT # Tase Al 3
Explain three major causes of biodiversity loss.
gs- g
SECTION - D
(e ITTcAS )

(Long Answer Type Questions)

I I (ATAH € T%h) & aR H QAR & dd10| 5

Explain in detail about menstrual cycle.
AYar
OR

ST (FoATad) AR Yeholelel & & HR A 5



19.

20.

Differentiate between oogenesis and spermatogenesis.
ATAT ¥ ZRAFEA ¥ AR F REaR ¥ Far)
Explain in detail about double helix model of DNA.
AYgar
OR
o Tl (oleh)-31T0RTeT &7 gulel ShITaT|
Describe Lac-operon.

N3 &1 cgrEdr fHifev]
Explain PCR.
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